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ECONOMICS
PAPER-II
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Yy-I1

: This paper contains ONE HUNDRED (100) multiple-choice and matching

questions, each question carrying TWO (2) marks. Attempt All the questions.

AL WAL AL (200) ogRselly o, 03-vild 2 RAssi oirlldLrl Used]

B. M UL s daudt 8. xAs waL @ (R) 9@ 3.

How many different equilibria can
you obtain when you allow for shifts

‘in the demand and/or the supply

curves ?
(A) 2
(B) 4
(C) 8
D) 16

Fiscal deficit in the Union Budget 2.

means :

(A) The difference between current
expenditure and current
revenue

(B) The sum of budgetary deficit

and net increase in internal

and external borrowings

The sum of monetised deficit

and budgetary deficit

(C)

(D) Net increase in Governments

borrowing from the RBI

Economics-I1
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(A) 2
(B) 4
© 8
D) 16

dlly vielwwaAmi rsibiy wy

ved : ‘

Q) adsit W wA adwt 33yeld
s AR+l astdd

(B) lel%Waa-l vig A widdls w4
6U& BRI wde el

(€) RSl vt we B{elruad]
LUl AL

(D) RBI WA AR 4L St
Wad Awe ade 2q (wa)

[P.T.O.]



Development process has been

viewed as a chain of disequilibria

by :

(A) Rosenstein Rodan

(B) R.E. Boldwin

(C) H. Leibenstein

(D) A.O. Hirschman

Fiscal Policy in India is formulated

by :

(A) NITI Aayog

(B) The Planning Commission

(C) The Reserve Bank of India

(D) The Finance Ministry

The logit model is employed

when :

(A) All the regressors are dummy
variables

(B) The dependent variable is a
dummy variable

(C) We need a flexible functional
form '

(D) All the variables in the function
are continuous variables

Decision taken at Bretton Woods

Conference led to the formation

(A) IMF
(B) IFC
(Cy IDA
(D} ADB
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(A) IMF

(B) IFC

(C) IDA

(D) ADB



According to the Economic Survey
2018, the expected growth rate for
agricultural sector ié

(A) 25%

(B) 24%

(C) 2.3%

D) 21%

A new scheme “Operation Greens”
has been announced in the Union
Budget 2018-19 for which of the
following commodities ?

| (A) rice, wheat and sugarcane
(B) tomato, onion and potato

(C) arhar, moong and masoor
(D) cotton, tea and coffee
Standard deviation of the sampling
distribution of the statistic is known
as :

(A) Variance

(B) Standard error

(C) Sampling statistic

(D) Sampling deviation

Economics-I1
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20y adae 2018 gt g datedl

AAd qlg €2 ....... 9.

(A) 2.5%

(B) 2.4%

(C) 2.3%

D) 2.1%

Adl diwdr w77 Al
NdAd  WIC—¢ Al 3dly
delwwaAdl sl wdl 8. Fui
A agaii-il amdy wu 8.
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10.

11.

12.

Government of India’s disinvestment
policy provides for ‘strategic sale’ of
PSU shares. This new poiicy
involves ...........

(A) Sale with a change in

management )

(B) Majority holding to be sold to
a private party

©
D)

The total number of indirect taxes

Sale of only loss-making PSUs

Sale of only oil companies

that have not been included under
GST are :

(A) 2

(B) 4

(C) 6

M) 8

Which of the. following types of

oligopoly competition would you
expect to result in the highest
market output, other things bemg
equal ?

(A) Stackelberg

(B) Bertrand

(C) Cornet

(D) Collusion
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oz s+l [QRAx lla PSUs
AU “yeicts AuR’ YT WS 9.
i Adl Gaellai 32812 5309 ...
Al Ad ald 9.

(A) AAdHL FsR Al du@
(B) w0l waA Hial ewdrn @

Aq19
(C) Hin w2 33l PSUs 4 % A

(D) WA dd su-falig ¥ qua

AU (GST) S6t AL 2l A

ya sl sa vl .. 3,
(A) 2

(B) 4

(C) 6

D) 8
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13.

14,

has been put forward'by :
(A) B. Higgins
(B) J.H. Boeke
(C) WA. Lewis
(D) R. Rodan
15.. Which of the following is not a
. characteristic feature of a tax ? =~
{A) Itisacompulsorybayinent o
CB)_ Every tax involves a sacrifice
by tax payer
© Thereisaqui_d-pﬁo-qub between
the tax payer and . the
| Government
(D). Refusal to pay a tax is a
Economics-II

Wages paid to Mahatma Gandhi -

National Rural Employment

to:

(A) Wholesale price index
(B) Consumer price indei for
agriéultur'ﬂ labour |
(C) Consumer price index for

‘industrial labour
(D) Food inflation

_memceptoftechmlogimldualism

18.
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15.

HetemL Afell ulgu waai- Awouy
A-dl Doyl Aot Fsaaui 1 B
' 2 e 3.

(A) wuu yas wis

@) &R sells el sues Yas is

(© SelBis slls H2-) suss Y5

wis
D) ¥~ goudl .
asfi8l ddaleql vaa sian g

2y syl 8 ?

A) o, [Bofl=n

B) 3.9, i}

(€) suey. . Al

®) W3, s o
5342 4R AAunidl $6 oo

s -l ?

(A) a-ll ysasll &ieoaua 8 |

(B) Ueldls 5243l Ysagll A 52

squ Al W3 sfgi B

(© 3 ygasll suz 4

ARHR A 5ttt WS 3l
AR B N

@) s2Aau-l Ysaell w3 4 wsael
Riaucus Y- ad 3
| PTO]



16. The most important consequence of

17.

- 18.

non-spherical errors is that :
(A) Coefficient estimates are biased
(B) Inference is biased -

(C) OLS is no longer BLUE

(D) Coefficient estimates change

sign _
Under the post 1991 Economic
Policies, the Government of India

supports :

(A) Private manufactunng sector
(B) Export industries
(C) Small industries
(D) All of the above.

Mixed croping is useful when :
(A) Crops with varying matunty
| period are sown together
(B) Crops with same maturity

~ period are sown togéther
(C) Different soils are used for same
crop
(D) Crope with different nutritional
requirements

together

are . sown

Economics-I1
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19. iIn Heckscher-Ohlin theory, factor  19-.

" (A) Bank Rate.
() CRR
(C) SLR
(D) PLR
21. Match SEBI with the appropﬁate 21.
item among the fc-illowing :
(A) Regulation of money market
(B) Régulation of the cai:ital
market
(C) Reg'u]atlon of bulhon market
(D) Regulation of foreign trade
Economics-II

abundance is defined in terms of :

(A) Physical quantities of factors
(B) Factor prices

" (C) Both (A) and (B)

(D) None of the above

'20. Which of the rate is not determined  20-

by Reserve Bank of India ?

85243 Hledli-u Riglaui wan
a6 a cuvla suut

LG

(4) ward-dl oy vl

®) wart Bud

(C) 4R (A) ¥ (B)

D) Guanig sl

Qe 50l 62 Wd A5 wile
O-SluL gt -sdl 2y Al 7.

A) A €3 |

B) L.z 2. (CRR)

© A AR, (SLR)

@ {l.W4.#R. (PLR)

Aol 'ﬂal-ii'tieﬂ Yoy opmd wd

A8\

(A) ~uRu o [Rayn

B) 38t sNg Rund

(©) A (g[élq?t)_ s Rud-
(D)"[alilit _éwuz-j, -t
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- 22. ‘What is the percentage of GVA 22, 2018 «l s Adua iR
(Grose Value Added) growth rate Ay ad 2019 Hi g4 Yeuges

expected to reach in FY 2019 ﬁ. 0 q Aot 63 hee 250 Qwsl
. according to the Economic Survey '
uatdl wsual 8 ?

2018 ?

(A) 6.0 (A) 6.0

B) 6.1 o . ®el

(C) 62 - {0) 82

©) 63 . (D 83

23, Weighted average tax rate under 23, GST Qs ol UL 5282 GG

GSTisaround: . ... 3,

A) 10% | A) 10%

(B) 15% (B) 15%

(C) 18% (C) 18%
D) 12% - D 12%

- 2. Marginal revenue for a monopolist 94 DL TTHERTH Rusic, el
is : ' .
(A) Equal to price
(B) Greater than price

A) Bud w2 B
@B) Bud s ay 8

() Less than price (€) Bua sl ikl B
(D) Equal to average revenue , ) ¥ wnedl oo B

- Eeonomics-I1 - | 10



25.

26.

27,

In Keyne's theory, as money supply
increases, rate of interest will :
(A) Remain constant

(B) Fall

(C) Rise

(D) Can't say with certainty

‘Fiscal policy in developing country

like India aims at :

(A) Widening the tax base

(B) Mopping up most of the
surpluses through taxation

(C) Achieving socio-economic
| objective of the state |

(D) All of the above

The limiting values of Durbin-

Watson Statistics are :

(A) -1 and +1

(B) 0 and o

(C) 4 and +4

—oc ANnd +ec

D)

Economics-11
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25.

26.

217.

-

36uet Rgictl, audl yad adl

dl eyl €3 ¢

(A) Ruz 3Q

(B) 424

(C) aud

D) 55 -8l s usin Al
alkd Fan Rsudr da w2 sy
Al o Ay elu & ?

(A) 523l WAl (base) WA 524l
B) $2A3L g2l ABRAMHIY aa

Mt Sl

(C) U~ %5 »uls dgail Big

534l

D) GUIAL suL %

slEla—diean RRResu w2 Hulla
yeui sul 9 "‘

(A) -1 i +1

(B) 0 ¥ AWHY o

(©) 4 2 +4

(D) —oc A 4o
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28.

30.

The Laffer curve explains the
relationship between which of the
following

(A) Tax rates and tax revenue
(B) Tai( rates and employment
(C) Tax rates and income

(D) Tax rates and govt. expenditure

Inflationary gap measures the

'_excess of aggregate expenditure

over the aggregate supply :

(A) Before full employment

(B) At full employment

{C) Beyond full employment

(D) Both (A) and (B)

P&eﬂy line of Rs. 32 a day in rural
areas and Rs. 47 a day in urban
areas was set by ..............

(A) Tendulkar Committee

(B) Saxena Committee

(C) Rangarajan Committee

(D) Lakdawala Committee

Economies-I1
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29.

30.

A5 as suL o YA AoiaiAl
Ayl 200 8 ?

(A) 5333 2 52 a&ga (2l1a5)

C(B) £33 A Awouil

(C) 5343 A 2UA%

(D) 54 A s Wi
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31.

32.

33.

The percentage of rurél people

living below the‘ poverty line

estimated by the export group

(Under C. Rangarajan) was :

(A) 29.5%

(B) 26.4%

(C) 30.9%

D) 27.0%

Isoquants that are downward

sloping straight line exhibit :

(A) an increasing marginal rate of

 technical substitution

(B} a decreasing marginal rate of
technical substitution

(C) a constant marginal rate of
't,e.chnical substitution

(D) a marginal rate of technical
substitution that cannot be
determined

Price leadership is a form of : .

- (A) Collusive oligopoly

(B) Monopolistic compétition
(C) Non-collusive oligopoly
(D) Monopoly

Economics-I1
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31.
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33.

Foatia ae QL. o) daa
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(A) 29.5%
(B) 26.4%
(©) 30.9%

D 27.0%
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34. Fei and Ranis in their book on

‘Development of Labour Sﬁrplus

Economy’ argue on the basis

(A) Dependence of poor on rich

(B) Interdependence of urban and

rural regions

(C) Interdependence between

agriculture and industrial

sectors
(D) Trade between countries in the

centre with countries in the

periphery

. A forward-shift tax will affect :

(A) Consumers more than suppliers

(B) Suppliers more than consumers

(C) Consumers and suppliers
equally

(D) Government révenues nega-

tively

Economics-11
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36.

317.

Sum of the deviations taken from

a_lﬁayu gzero ?

(B) Mode

(05 Arithmetic mean

(D) Harmonic mean |

Wﬁat was the Gujarat average
annual GSDP growth rate from
2004-05 to 2015-18

(A) 14.2%

(B) 10.2%

©) 122% |
D) 16.2%

Velocity of money remain constant

(D) Both (A) and (C)

Economics-I1

which of the central tendency is

18

36.

&4 vflu qaRi s sl e

Rad-d-l a2l dla gru wy
a7

(A) W

(B) oy
© omm Hs

(D) SlUMHS HWS

87.

88.

2004-05 ¥l 2015-16 €334t o el
w321y afls GSDP (awud juudy
Q1) - qlee deel Wal wl ol
A 142%

(B) 10.2%

(C) 12.2%

(D) 16.2%
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uged wendo Bay W B 7
(A) W2 sifaulled

®) 36alun sfurelisi

© usuuid ai[utaaﬂ:;ﬂ
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41,

42.

Which one of the following is not
a Revenue Receipts ?

(A) Goods and Service Tax
(B) Customs duties

(C) Interest Recelpts

(D) Corporate tax

In act;elerator theory, capital-output
ratio is assumed to be :.

(A) Increasing

{(B) Decreasing

(C) Constant
(D) Independent from level of
national income

Labour participation of women in

India in 2011 was :

(A) 25%

(B) 16%

(C) 32%

D) 9%

The product method of calculating
National Income is known as :
(A) Value added method

(B) Incdme method

(C) Expenditure method

M) Net output method

Economics-I1
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41.

AA-nifl 55 w3yl 243
]l ?

(A) A i1l Al 53

(B) »uaistil st

(C) aux-l »pqs

M) sixuile (Ram) s

Aldad Rgianl 38-Gengt =ila
....... Al »ud 9,
(A) Qi

(B) uaisi

(C) Rur

(D) UMy 2pqs-u w.eﬂ AdA

audd 2011 i 4lar uHlsl
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(B) 15%
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D) Al Gewed ugl
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43. If the average productivity of labour

equals the marginal productivity of

labour, then :

(A) The average productivity of
labour is at-a maximum

(B) The marginal productivity of

" labour is at a maximum

(C) Both (A) and (B) above

(D) Neither (A) nor (B) above

. The Samuelson-Hicks formula

provides a measure of :

(A) Consumer surplus

(B) Consumer equilibrium

(C) Elasticity of demand

(D) Marginal utility

. Karl Marx predicted collapse of

capitalism due to which of the

following :

(A) Decline in profits and labour
productivity

(B) Diminishing returns and

product squeeze between rent |

and wages
(C) Excessivé-grdwth of population
and rising unemployment
(D) Crisis a-ssociated. with over

production and social upheaval
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A sl AW Bewesdl oK

sl Rtid Giesdl €y dl :

(A) siM+fl A AU Gewesdl Hsdu &

B) -l Bidict Geesdt Hend 0

() WAL (A) ¥A (B) 6

(D) GuIU (A) 21 (B) il tswst

Al |
Agau-[8sxn Ry A-unisfl
Wy 8 ? |
(A) Guetiadidl wRAn
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(© ol Ruld ausa
D) Aia gfie g2
sid qbae ud AA-umil wen €8
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edl :
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gaisi-lL ¢lg

(B) eusL ¥l At 92 u2g HAdR
A Y2 Gewen

(C) Ml fauy quil w1 qudl -

Azl

(D) Qg Beite- 21 Aulrs Guawua

A Asmda s2sd
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46.

47.

The concept of “Effective Revenue
Deficit” has been used for the first
time in the Union budgét for :
(A) 2009-10

(B) 2010-11

(C) 2011-12

(D) 2008-09

If one wants to introduce
qualitative variable with 4
categories in a regression model, the
appropriate number of dummy
variables to be used aré :

(A) 4

(B) 3

© 1

M 5

. The country can improve its balance

of payment by devaluation when the
sum of elasticities of demand for
exports and hﬁports 18 !

(A) Greater than unity

(B) Less than unity

(C) Zero

(D) Equal to unity -

" “Fconomics-1I
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w4135 4yl vl v o z-cmi_
Al Nuy su aFeMi 9 Ul edl ?
(A) 2009-10 |

(B) 2010-11

(C) 2011-12

(D) 2008-09

R A [Rud Asia prudi 4 Al
(329131) QY RS U@ Bimd s34
Wiotelt €in di, sl qaiellaidAl yisy
......... ol AgA.

(A) 4

(B) 3
€y 1
D) 5

48, R4 vayert a2t A1 3saelld Agart

il 23 B, yud Fsr A s
widefl dioell yeu ALUsdL-il Ais
(A) AsH 52 ag
(B) 5™ sl gl
© Y |
(D) Asw w2



49,

50.

B1.

(B)

Which of the following will cause

the investment demand curve to
shift to the left ?

- (A) A decrease in tax

(B) Improvement in expected

future sales

. (C) An increase in interest rate

(D) An increase in price of raw
material _
Which of the following is not true
of the Regional Rural Banks

(RRBs) ?
They provide direct loans to

(A)
small and marginal farmers
They are co-sponsored by the
RBI

They also perform other

banking operations

()

D)
holders in RRBs |

To reduce cyclical unemployment,

the government might :

(A) Increase the budget surplus

(B) Increase the budget deficit

(C) Increase the balance of
payment‘déﬁcits

(D) Reduce government expen-
- diture

Economics-11
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52.

83.

(A)

D)

If the price elaéticity of demand for
a product is equal to 0.5, then a 10
percent decrease in price will :
Expand quantity demanded by
5 percent

(B) Expand quantity demanded by
‘ 0.5 percent

(C) Contract quantity demanded
by 5 percent

Contract quantity demanded
by 0.5 percent

Revealed pfefex;eﬂée theory was

formulated b_y :

(A) JR Hicks

{B) Paul Samuelson

(C) Joseph Stiglitz

(D)’J M. Keynes |

The critical minimum effort theory
emphasis on e

(A) Sequence of small investments

(B) Investment in infrastructure

projects

(C) A programme of investment in
core sector

(D) A massive investment

programme to raise per capita

income

Economics-II .
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55.

57.

Economics-11

W_hich of the fol-l;)wing plans

witnessed the highest growth rate

in India ?

(A) Ninth plan

(B) Eighth plan

(C) Tenth plan

(b) Seventh plan

Which of the following distribution

is symmetric distribution ?

(A) Chi-square’ distribution

(B) Normal distribution

(C) F-distribution

(D) Empirical distribution

Mercantilism viewed trade as :

(A) a socio-economic evil

(B) a threat to a government’s
independence

(C) a zero-sum game

(D) all of the above

21
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58.

69.

60.

)

Natural rate of unemployment is
likely to fall if : |
(A) Unemployment benefits

increase |
(B)

(&)

Income tax rate increase
Geographical immobility
increases

More training is given for the
unemployed

Demand pull factors for inflation can
be :

.(A) Development expenditure

(B) Increase in agricultural output

(C) A balanced budget

(D) Increase in industrial output

Suppose the demand for good Z goes
up when the price of good Y goes
down. We can say that goods Z and
Y are : |

(A) Substitutes

(B) Complements

(C) Unrelated goods

(f))' Perfect. substitutes

Economics-II
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Aiwoul-u geadl sl uaist uaudl
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61.

62.

" (A)

(B)

If nominal GDP is equal to real
GDP, then :

The GDP deflator is equal to
ZEro _ _
The GDP deflator is equal to
one '

(C) The GDP deflator is less than
one

(D) None of the above is true |

A.W. Phillips wage-inflation
unemployment trade-off is based

on :

(A) Static expectation hypothesis

(B) Adaptive | expectation
hypothesis | |

(C) Extrapolative expectation
hypothesis

(D) Rational expectation
hypothesis -

What was the rank of Gujarat in
India for milk production during

- 2015-16 ?

(A) 4
(B) 3
€ 2
D 1

Economics-II
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ALl &% eUdUl Fedl Wal
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- 64.

66.

The vicious circle.argument points
the connection between ........... -
(A) Income and population

(B) Investment and technology

.(C) Productivity and income

(D} Savings and capital

Which of the following committees
has been set-up in India for
identification of BPL families in

urban areas ?

(A) Tendulkar Committee

(B) Sexena Committee

(C) Lakdawala Committee

(D) Hashim Committee

The technique. used for drawing a
representative sample from a
homogeneous population is :

(A) Stratified sampling

(B) Multistage sampling

(C) Simple random sampling

(D) Sequential sampling

Economices-11
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67. Which of the following is two-way . g7, JQ-uniell Rudl auw W2 54l 2

trade in which the country’s both
export and im_poi‘t products that are

the same or similar ?

(A) Net trade

(B) Product differentiation trade
(© Inh'a-indusfry trade

(D) Internal trade

. The equimarginal utilitsr principle
states that :

MUa _ MUb - MUc

A
=MUn_
...... Pr
®) MUa MUb MUc
Pa Pb Pe
¢MUn
...... o
© MUa MUb  MUc
, Pa Pb Pc
MUn
beane > Pn
. MUa MUb MUc
D B P
' <MUn
aaaaa k Pn
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69.

70.

71.

In India federal fiscal transfers to

states are mostly based on :

_(A) Tax effort of the states

(B) Financial management of the
states
(C) The demand made by the states

(D) Population and per capita

income of the states
The working of SEBI includes :

(A) To regulate the dealings of

share market

'(B) To check the foul dealings in

share market |

(C) To control the insgide trading of
share

(D) All of the above

What money illusion refers to ?

(A) Money demand for speculative
purposes is not stable

(B) The belief that money can buy

anything

(C) When the price level increases,

the real value of money will
decrease

(D) The belief that the nominal
v_hluas are same as the real

valuqs

Economics-I1
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72.

73.

74.

In the Harrod-Domar equation

g = slv, v 1s defined as :

(A) The value of country’s. capital
stock

(B) The ratio of country’s savings
to its output

(C) The change in the country’s
capital stock

(D) Incremental capital output
ratio

Which ceiling of the income was

recommended {ax free from personal

income tax by Kelkar Committee ?

(A) Rs. 50,000

(B) Rs. 75,000

(C) Rs. 1 lakh

(D) Rs. 1.5 lakh

Principle of equity in taxation could

be attained by :

(A) Lump-sum tax

(B) Regressive taxation

(C) GST
(D) Progressive taxation

Economics-I1
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74.

SRAS—siH L AW g = s/v Wi, v

] eqreyy

(A) UL 48l wed yeu

(B) UL olAd-l £ A+t Gewen
{02ye) -u eir-.o{Hi.

(C) ne+L Ysl w2l 33812

(D) a8dl 38l Gewen dLeli?

S5 gl ABdad 2uasd e 5§
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sl dudl © ?
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75.

76.

.

The MUx/MUy ratio is 10 and the

Px/Py ratio is 8, so the consumer
should buy :
(A) less X and more Y

(B) more X and more Y

(C) more X ar_ld less Y

(D) less X and less Y

In Solow’s model of growth, the

output per capita is a function

of :

(A) Technical progress

(B) Labour-capital ratio

(C) Capital-output ratio

(D) Rate of change in capital-
ou’pput ratio

The Gini coefficient provides a

measure of :

{A) The level of poverty

(B) The level of relative inequality
(C) Disguised unemployment

(D) The rate of growth

Economics-II
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MUx/MUy il 2&tid2 10 8 1 Px/
Py il A2liv 8 8, ddl sued wileq
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78.

79.

80.

In case of chi-square distribution
Yates correction is done when the
degrees of ﬁ'eedom :

(A) are infinite

(B) is zero

(C) 18 one

(D} are 10

If external debt of a country rises
faster than its internal obligations,
it is a case of : |

(A) Liquidity trap

(B) Debt trap

(C) Export-led growth

(D) Poverty trap

Supermultiplier refers to :

(A) Interaction of the multiplier
and the accelerator

(B) Reciprocal of the marginal

propensity to consume

(C) Capital output ratio

(D) Budget multiplier

Economics-II
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81.

82.

The theory of comparative
advantage is associated with :
(A) David Ricardo

(B) J.S. Mill

(C) Adam Smith

D) Schumpeter

The functions of RBI does not
include :

{1) Open market opératiofls

(2) Monitoring revenue collections

(3) Supervising

finance companies

(4) Review of public expenditure

81.

82.

non-banking

Which of the above statement/s |

isfare correct ?
(A) () and (2)
B) (2) and (4)
(©) (1), 3) and (4)

(D) (1), (2), (3) and (4)

Economics-11
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83. Which one of the following is not 83. --[lilvuale[l 43 URIAL YR8 sgunl

helpful in controlling money | Q.Cll.-‘ti. uLe 53 GI adl ',
supply ? g

| A) 3sd an Rdl
(A) Free market policy
. - B) A.212. 9. (AsS e+l
(B) CRR '

' 2)
(C) Bank rate R
(D) Change in margin require- (© 4% &2
ment | | @) sunll 3qNUari WRad

84. Which is/are the aim(s) of the direct 84, SRl suise 2 slewu Au(d)

tax code in India ?- o sdjsu B 7
Moderating i tax rate L R

@ tins coris T Tates (A) MBI UML) duasdRyAl €

(B) Abolishing the security
o (B) Yot Ay sdl -yl
R (© 8 ami YOl sad W suidul
(C) Inmuing deduction for saving .
- CUTET |
upto 3 lakhs
@) All of the above D) QU dumn

Economics-II - . st | o _[P.T.O.l



" 85.

86.

Which of the following is a correct
statement about the relationship
between average product (AP) and

marginal product (MP) ?

(A) If AP is at a maximum, then

MP is also maximum
(B) If TP is declining, then AP is
| ‘negative
(C) If AP exceeds MP, then AP is
. falling ‘ |
(D) If AP = MP, t.heﬁ’total product
is at a maximum
Which one of the following models
expla.ir_;s the paradox pertaining to
the rural-urban migration in

the context of rising urban

_employment ?

(A) Lewis model
(B) Todaro model
(C) Solow model
(D) Nurkse mbdel

Economics-II
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87. The test used fof testing goodness
of a fit in a multivariate function
in o

© (A) Zstatistic

(B) t-statistic

(C) F-statistic |

D) Chi-aquare statistic

. Foreign Exchange Regulation Act
was replaced with the Foreign
Exchange Management Act in the

(A) 1991

- (B). 1995

(C) 1997

(D) 1999

. Who has criticised the ..Keynesian
Liquidity Preference Theory of
ix;terest ?

*(A) Hansen

(B) Robertson

(C) Knight |

(D) All of the above

Economics-I1
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WRaw s W2 5y wam av
37

RAL

®) t-uRaa

(C) F-ulram

(D) %2 (Chi-square) uRa2
. [l RFRH G sel wouR

[Et%.a& Et[%m QR ul'Ql?lqa A

suL a¥l veddl v s ?

(A) 1991

(B) 1995

(€) 1997
D) 1999

3Ol dvddl wdedlAi ol

Rgidd 49 An 5N 7
(A) 3

B) AU

(C) ~use

- (D) GURW K&

(P.T.0.]



90. What is the average CPI inflation  90- "UUAlY ol 2018 %i AW 3ues

91,

" rate seen at financial year 2018 ?

(A) 8.1

B) 3.2

- (© 35

®) 3.7
The receipt from the disinvestment

of public sector units are shown

under which of the following heads

of the union budget ?

(D Revenue receipts

(B) Non-tax revenue .

(C) Non-debt capital receipts

(D) Debt capital receipts

Economnics-11

 (ig28) ousis AalRd goudll €2

Zedl adi ?
(A) 3.1

(B) 3.2

(©) 85

D) 8.7
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93.

92. Which of the following is/are correct

after the implementation of GST ?

1) Forfnality in the non-farm

sector 18 high compared to

previous calculations |

(2) Indirect tax payers have

increased

3)
losing revenue compared to the
earlier tax regime

Select from the option below :

(A) (1) only '

(B) (1) and (3) only

(C) (2) and (3) only

(D) (1), (2) and (3)

Marshallian cardinal utility

analysis assumes :

(A) Marginal utility of money is

ZEro

(B) Marginal utility of money is

decreasing

(C) Marginal utility of money is

increasing

(D) Marginal utility of money is

constant

Economics-]1
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94, In a bivariate regression, if the 94
coefficient of determination is 1.00,
then the relation between variables
i8 :
(A) Deterministic
(B) Stochastic
(C) No relation
' (D) Partial relation

95. India’s internal trade is 60% of its  95.

total trade. Which state has the
largest trade surplus in inter-state
trade ? |

(A) Haryana

(B) Maharashtra

(C) Gujarat

(D) Karnataka

96. Import of capital good under Export 96,

Promotion Capital Goods (EPCG)
scheme is subject to :

(A) Terms and conditions of
agreement

(B) Conditions of law of exporting
country

(&)
1))

“Actual user conditions
Condition of law of importing

country
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As Badly Rad %lbiﬁﬂi, A Rela-l

AR5 1.00 i i, Aal aRAL Asin

A) Rafas
(B) ¥3Res (ugs)
(C) Asiadl AU

(D) iy sy

MLl AidlRs Ul del 56
LWL 60% ©. Ald XY
AIMIRHL SUL UL R AN
Al ay & ?

A) sRu

(B) HslUN

(€) AU

D) salest

ysl yas adHl suuidi waisi, 38l
yas qwgui-dl FMsiud wicilsd
Ylo-m e & :

(A) Fadl w4 sl Al

(B) [Asasr i siyedl Rala
(C) ardlas 'qumwd[ Al

D) 2>l saril siweldl Ral



97.

98.

High powered money comprises :

(A) Currency held by the public +
cash reserves of banks

(B) Currency held by the public +

Demand and time deposit +

cash reserves of banks

(C) Currency held by the public +

Cash reserves of banks + other

deposits of RBI

(D) Currency held by the public +

other deposits of RBI

Fiscal deficit of the Union

Government for the fiscal year 2017-

18 as presented in the Irecent union

budget 2018-19 is at :

(A) 3.2% of GDP

(B) 3.6% of GDP -

(C) 3.3% of GDP

D) 3.0% of GDP
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98.

G2 wlddsudl ﬁugj  Aysd Fd

(A) dist wdd adell g + a5
WA, WUWES WA MR

(B) disi wdd aaell «ug + uid
atu@a A Yedl Buws + A-sl

WA sS wlHadg W

(©) disl WA aaell Ay + A5l
WA AUSS rliHdgd WA +

Aad ars WA -0 2wl
@) disi WAy aaell ug + And

Ars WAL 2y QYR

dAlFARML %Y 5@ dlU BiEIA YA

2018-19 Hi sulet o AxsMla al

2017-18 W2 A-dlly #5120 x5

vy sedl edl ?

(A) $4 839 Guer (GDP) -L 3.2
251

(B) &4 43 BMle (GDP) -1 35
esl

(C) &4 43g Gue-l (GDP) ~u 3.3
251

(D) 44 43¢ Gaued (GDP) -U 3.0
251

[P.T.0.]



99.

- (A)

100.

Match the statement given in
List-I with that given in List-1I and
choose the correct answer from the
codes given below :

List-1

(@) Employment and output are

determined solely by the factors
operating on the supply side on
the labour market according to
The term ‘classical’ was given
by

The classical production
function was used to derive the
aggregate supply function by
A linear aggregate consumption
function was used by

()

(c)

(d)

List-II

(1) Karl Marx
{2) Classical economist
(3) J.M. Keynes
(4) Keynesian economist
Codes :

@ ® © @

(2) 3) 1 @
(B) 4) (1) (2) (3)
(C) (1) (3) (4) (2)
D) (2} (1) 3) (4)

Improvements in the standard of

living in a country are best reflected

by increase in :

(A} GNP at constant prices

(B) GNP at current prices

(C) Per capita income at constant
prices

(D) Per capita income at current
prices
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100.

YAl-1 - Qi syl 2w0d4
YA- A WAL SIS gIRL WAL SR ¢
YAl 1
(@) XU 2 Beulsd W ™
oAl YASL YR M Sl
Yol gL sl sumi »ud
3. _
“ulEe’’ ot Si-L gL BYA]
2] gl
e Gowe QAU Guaiol 54
yqsl A8y qengdal 12 sat
BUAL ol

®)

(c)

@) &4 AW avww g
GuAA-UL gLt S Q4.
YAl R
(1) sidasn
2 ure wedgusA]
3 F.¥%. 35
@) 35l vdursdl
5‘15 :
(@) ()] (¢) (d)
{A) (2) 3) (1) (4)
(B) (4) (1} {2) (3)
(C) (1) (3) (4) (2)
{D) (2) (1) (3) 4)

RUUL DAt HRRAHE YUIRL ...
uizl girt 2% ulAbiEd wy 8.
(A) RuR Bxd g4 Alpy vuas
(B) WY Bud 54 URZY 2uas
(C) Ruz (3ud wengls was

D) g Bud waiels suas
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